
TO WATCH VIDEOS GO TO: 
tinyurl.com/lgh5x3h

 

Garage Opener

Contents
Preparation ......................................2-5
Assembly .......................................6-10
Installation .................................. 11-28
 Install the Door Control ............ 21-22
 Install the Protector System® .... 23-26
 Power ...................................... 27-28
Adjustments ................................. 29-31
Battery Backup ..................................32
myQ® Smartphone Control .................33
Operation ..................................... 34-37
 Features .......................................35
 Using your Garage Door Opener .....36
 Remote Control .............................36
 Homelink® ...................................36
 To Erase the Memory .....................37
 To Open the Door Manually ...........37
Maintenance .....................................38
Troubleshooting ........................... 39-40
Accessories ........................................41
Warranty ...........................................42
Repair Parts ................................. 43-44

Owner’s Manual
C273
Chain Drive 
Garage Door Opener

FOR RESIDENTIAL USE ONLY

PRE-PROGRAMMED REMOTE CONTROL 
INCLUDED

www.chamberlain.com
www.mychamberlain.com

• Please read this manual and the enclosed safety materials carefully!
• Fasten the manual near the garage door after installation.
• The door WILL NOT CLOSE unless the Protector System® is connected 

and properly aligned.
• Periodic checks of the garage door opener are required to ensure 

safe operation.

• The model number label is located on the front panel of your garage 
door opener.

• This garage door opener is compatible with myQ® and 
Security+ 2.0® accessories.

• DO NOT install on a one-piece door if using devices or features 
providing unattended close. Unattended devices and features are 
to be used ONLY with sectional doors.



Torsion 

Spring
Extension

SpringOR



Wi-Fi signal is weak. 

The garage door opener will likely connect to your Wi-Fi 
network. If not, try one of the options below. 

No Wi-Fi signal. Try one of the following:

• Move your router closer to the garage door opener to   
 minimize interference from walls and other objects
• Buy a Wi-Fi range extender
• Buy a myQ Internet Gateway (828LG) see page 41

Check Signal Strength. If you see:

Wi-Fi signal is strong. You’re all set!

Install your new garage door opener. 

3/16 

7/16

1/2 

5/32 

5/16

5/8

9/16

1/4

7/16



N

A

B

C

H

K

J

O

I

D

E

F

G

L

M

P

Q



ASSEMBLY INSTALLATION DOOR CONTROL

Insulated Staples
(Not Shown) 

Bolt 
1/4"-20x1-3/4" 

Lock Nut 
1/4"-20

Bolt

Nut 3/8" Lock Washer 3/8"

Master Link (2) 

Threaded 
Shaft

Clevis Pin 5/16"x1-1/2" 

Ring
Fastener (3)

Hex Bolt 5/16"-18x7/8" (4)

Lock Washer 
5/16"-18 (5)

Nut 
5/16"-18 (6)

Self-Threading Screw 
1/4"-14x5/8" (2)

Clevis Pin 5/16"x1" Clevis Pin 5/16"x1-1/4"

Carriage Bolt 
1/4"-20x1/2" (2)

Wing Nut
1/4"-20 (2)

Lag Screw 5/16"-9x1-5/8" (4)

Screw 
6ABx1" (2)    

Screw 
6ABx1-1/2" (2) 

Drywall 
Anchors (2)

Screw
6-32x1" (2)



Wear Pads

Front Rail Section

(TO DOOR)

“U” Bracket

(TO MOTOR UNIT)

Trolley

Rail Tab
On Top

Slide to stops 
on top and sides 
of “U” bracket 

Screwdriver



Bolt
1/4"-20x1-3/4"

Lock Nut
1/4"-20

HARDWARE

“U” Bracket

Cover

Protection

Bolt Hole

Bolt

1/4"-20 x 1-3/4"

Lock Nut

1/4"-20

Bolts (Mounted in the
garage door opener)



Rail

Idler Pulley

Grease Inside 
Pulley

Bolt

Chain/cable

Lock Washer

Nut

Bolt
Nut 3/8" Lock Washer 3/8"

HARDWARE

Rail Tab



HARDWARE

Master 
Link

Threaded Shaft 

Figure 3

Threaded 

Shaft

Outer

Nut

Inner

NutLock 

Washer

Master Link

Master 

Link

Figure 2

Sprocket

Figure 1

a.

b.

c.



Outer
Nut

Lock
Washer

Trolley
Threaded
Shaft

Inner Nut

To Tighten
Inner Nut

To Tighten Outer Nut

Base of Rail Mid length of Rail

Chain

Chain even with base 
of rail at mid length

Hex Screw #8x3/8"
(Packed with the sprocket cover)

HARDWARE

Hex Screw

Sprocket Cover





Header Wall
Vertical Centerline of Garage Door 

2x4 Structural 
Supports

Level 

(Optional)

Unfinished 
Ceiling

2x4

OPTIONAL CEILING MOUNT 
FOR HEADER BRACKET 

Sectional door with curved track

Header Wall

Track

2" (5 cm)

Highest 
Point of 
Travel 

Door

One-piece door with horizontal track

Header Wall

Track

2" (5 cm)

Highest 

Point of

Travel 

Door

One-piece door without track:

jamb hardware  

Header Wall

8" (20 cm)

Highest

Point of

Travel  

Door

Jamb 
Hardware

One-piece door without track:

pivot hardware

Header Wall
8" (20 cm)

Highest

Point of

Travel  

Door

Pivot



Lag Screw 5/16"-9x1-5/8"

HARDWARE

UP

Wall Mounting
Holes

WALL INSTALLATION

CEILING INSTALLATION

Optional Mounting 
Holes 

Vertical 

Centerline of 

Garage Door

Header Wall

Header 

Bracket

2x4
Structural

Support

Door
Spring

Garage Door

Highest Point 
of Garage 

Door Travel 

Horizontal
Line

Lag
Screw

UP

Header Wall

Ceiling Mounting 
Holes

Finished Ceiling

Vertical 

Centerline of 

Garage Door

Header
Bracket

6" (15 cm)
Maximum 

Door Spring

Garage Door

Lag Screw



HARDWARE

Clevis Pin

5/16"x1-1/2" 
Ring Fastener 

Clevis Pin  

Ring Fastener 

Connected Disconnected

One-piece door 
without tracks 

2x4 2x4

All other 
door types



Finished Ceiling 

Lag Screw

1 2 3
Not Provided

Not
Provided

Not Provided

4 5 6

Lag Screw

Finished Ceiling

EXAMPLES

Unfinished Ceiling

HARDWARE

Hex Bolt
5/16"- 18x7/8"

Nut
5/16"-18 

Lock Washer 
5/16"-18

Lag Screw
5/16"-9x1-5/8" 

Hex Bolt 

Nut

Lock
Washer



or



FIGURE 1

FIGURE 3 FIGURE 4

FIGURE 2
Vertical 
Reinforcement

Vertical
Centerline 
of Garage Door 

UP

Door Bracket

Vertical Reinforcement

Vertical Reinforcement

Horizontal Reinforcement

Vertical Centerline
of Garage Door 

Hardware
(not provided)

Door Bracket

UP

Vertical 
Centerline
of Garage Door 

UP

Vertical Centerline of 
Garage Door 

Hardware
(not provided)

UP

Inside Edge of Door or
Reinforcement Board 

Self-Threading Screw

Self-Threading 
Screw

HARDWARE

Self-Threading Screw
1/4"-14x5/8" 



For a door with no exposed 
framing, or for the optional 
installation, use lag screws 
5/16"x1-1/2" (not provided) 
to fasten the door bracket. 

Vertical 
Centerline 
of Garage 
Door 

Optional 
Placement 
of Door 
Bracket 

Door Bracket

Header Bracket

Header Wall
2x4 Support (Finished Ceiling)

Door
Bracket 

Top of Door 
(Inside Garage)

Top Edge of 
Door

Optional 

Placement

Optional
Placement 

Top Edge
of Door 

Top of Door
(Inside Garage) 

Door
Bracket 

Hardware
(not provided)

Hardware
(not provided)

Metal Door Wood Door
Self-Threading Screw 



HARDWARE

Hex Bolt 5/16"-18x7/8" 

Nut 5/16"-18  

Lock Washer
5/16"-18

Clevis Pin 5/16"x1" Clevis Pin 5/16"x1-1/4" 

Ring Fastener  

Lock Washer
5/16"-18

Nut
5/16"-18 

Hex Bolt
5/16"-18x7/8"

Clevis Pin
5/16"x1-1/4"  

Ring Fastener  

Clevis Pin
5/16"x1"  

Straight
Door Arm

(Groove
facing out)

Curved
Door Arm



HARDWARE

Hex Bolt 5/16"-18x7/8" 

Nut 5/16"-18  

Lock Washer
5/16" -18

Clevis Pin 5/16"x1" Clevis Pin 5/16"x1-1/4" 

Ring Fastener  

One-Piece Door without Track

One-Piece Door with Track

Ring Fastener  

Ring Fastener  

Ring Fastener  

Nut

Nut

Ring Fastener  

Lock Washer

Lock Washer

Clevis Pin 5/16"x1-1/4" 

Clevis Pin 
5/16"x1-1/4" 

Hex Bolts 

Hex Bolts 

Clevis Pin 
5/16"x1" 

Clevis Pin 
5/16"x1" 

Straight Door Arm
(Groove facing out)

Curved Door Arm



Screw 6ABx1-1/2" (2) 

HARDWARE

Drywall Anchors (2) 

1/4" (6 mm) 

1 2 3 



7/16" (11 mm) 
2

3 

1 

Staple

R
E
D

W
H

IT
E

W
H

IT
E

G
R

E
Y



Safety Reversing Sensor 
6" (15 cm) max. above floorInvisible Light Beam 

Protection Area 

Facing the door from inside the garage

Carriage Bolt
1/4"-20 x 1/2" 

Wing Nut
1/4"-20 

HARDWARE

No more
than 6” (15 cm)

Carriage Bolt

Wing Nut

1

2 3



Lens
Carriage
Bolt

(Not provided)

No more than 
6” (15 cm)

1 2

(Not provided)

Wing Nut

3 4

Inside Garage Wall

(Not provided)
1 2

Carriage Bolt

Wing Nut

3 4

Inside Garage Wall



1 2

3

Staple

7/16" (11 mm) 

W
H

IT
E

W
H

IT
E

G
R

E
Y

R
E

D

HARDWARE

Insulated Staple (Not Shown)



Safety reversing 
sensor wires

Pre-installed 
wires 

White

White/Black

Yellow (for example)

Purple (for example) 

Not Provided

Pre-installed wires 
Safety reversing 

sensor wires

7/16"
(11 mm) 

Yellow

Purple

1

3

4

7/16" 
(11 mm)

2

Yellow
(for example)

Purple
(for example)

To insert or remove the wires from 
the terminal, push in the tab with a 
screwdriver tip.  

5

R
E
D

W
H

IT
E

W
H

IT
E

G
R

E
Y

D
R

E
D

WR
E

W
H

I
W

H
IT

E

GG
R

E
Y



Ground Tab

Green Ground Screw

Ground Wire

White Wire

Black Wire 



Green LEDAmber LED

Wing Nut

SENDING SENSOR RECEIVING SENSOR

(invisible light beam)

If the receiving sensor is in direct 
sunlight, switch it with sending sensor so 

it is on the opposite side of the door. 

R
E
D

W
H

IT
E

W
H

IT
E

G
R

E
Y

321

1 2



UP (Open) DOWN (Close)

Correct

Incorrect

UP Button

Adjustment 
Button

DOWN Button

PROGRAMMING BUTTONS



UP Button

Adjustment 
Button

DOWN Button

PROGRAMMING BUTTONS

1 2 3

4 5

6 7



1 2

1 2



Battery 

Status LED

1 2 3



An LED on the garage 
door opener will 
indicate Wi-Fi status. 
See table below.

Push Button Light Button 
(also used for 
connecting 
myQ; see app)

Push Button Door Control

LED

Learn
Button







Push Button LIGHT Button

1

2

OR

PIN

? ? ? ?

4GHI 5JKL

7PRS 8TUV 9WXY

0 QZ* #

ENTER

0 QZ
*

#

ENTER

6  MNO

“clic
k”

“clic
k”

LEARN LED

LEARN
Button





1
2

3







41

Accessories

CLLP1

953EV

Laser Parking Assistant:

Park in the right spot every 

time! A laser beam is activated 

by your

garage door opener and 

projected on to the dashboard 

of your vehicle to guide perfect 

parking.

Remote Control:

Works with ALL Chamberlain 

openers from 1993-present. 

myQ compatible. Includes 

visor clip.

956EV Keychain Remote Control:

Works with ALL Chamberlain 

openers from 1993-present. 

myQ compatible. With key 

ring.

940EV Wireless Keypad:

For use outside of the home 

to enable access to the garage 

using a 4-digit PIN. Works 

with ALL Chamberlain openers 

from 1993-present. myQ 

compatible.

PILCEV myQ Remote Lamp Control:

Monitor and control this plug 

in lamp switch with the myQ 

Smartphone App.

You can program up to 10 myQ accessories to your myQ account.

WSLCEV myQ Interior/Exterior Light 

Switch

Monitor and control this wall 

light switch with the myQ 

Smartphone App.

Extension Brackets:

(Optional) For safety reversing 

sensor installation onto the 

wall or floor.

041A5281-1

7710CB 10 Foot (3 m) Rail Extension:

To allow a 10 foot (3 m) door 

to open fully.

8 Foot (2.4 m) Rail Extension:

To allow an 8 foot (2.4 m) 

door to open fully.

7708CB

041A6357-1 Standby Power System 

Battery:

Provides backup power to the 

garage door opener.

myQ Accessories



42

Warranty CHAMBERLAIN® LIMITED WARRANTY

The Chamberlain Group, Inc.® (“Seller”) warrants to the fi rst retail purchaser of this product, for the 
residence in which this product is originally installed, that it is free from defects in materials and/or 
workmanship for a specifi c period of time as defi ned below (the “Warranty Period”). The warranty 
period commences from the date of purchase.

WARRANTY PERIOD

Parts Motor Accessories

1 Year 6 Years 1 Year

The proper operation of this product is dependent on your compliance with the instructions regarding 
installation, operation, and maintenance and testing. Failure to comply strictly with those instructions 
will void this limited warranty in its entirety. If, during the limited warranty period, this product appears 
to contain a defect covered by this limited warranty, call 1-800-528-9131, toll free, before dismantling 
this product. You will be advised of disassembly and shipping instructions when you call. Then send 
the product or component, pre-paid and insured, as directed to our service center for warranty repair. 
Please include a brief description of the problem and a dated proof- of-purchase receipt with any 
product returned for warranty repair. Products returned to Seller for warranty repair, which upon 
receipt by Seller are confi rmed to be defective and covered by this limited warranty, will be repaired 
or replaced (at Seller’s sole option) at no cost to you and returned pre-paid. Defective parts will be 
repaired or replaced with new or factory rebuilt parts at Seller’s sole option. [You are responsible for 
any costs incurred in removing and/or reinstalling the product or any component.]
ALL IMPLIED WARRANTIES FOR THE PRODUCT, INCLUDING BUT NOT LIMITED TO ANY IMPLIED 

WARRANTIES OF MERCHANTABILITY AND FITNESS FOR A PARTICULAR PURPOSE, ARE LIMITED 

IN DURATION TO THE APPLICABLE LIMITED WARRANTY PERIOD SET FORTH ABOVE FOR THE 

RELATED COMPONENT(S), AND NO IMPLIED WARRANTIES WILL EXIST OR APPLY AFTER SUCH 

PERIOD. Some States and Provinces do not allow limitations on how long an implied warranty 

lasts, so the above limitation may not apply to you. THIS LIMITED WARRANTY DOES NOT COVER 

NON-DEFECT DAMAGE, DAMAGE CAUSED BY IMPROPER INSTALLATION, OPERATION OR CARE 

(INCLUDING, BUT NOT LIMITED TO ABUSE, MISUSE, FAILURE TO PROVIDE REASONABLE AND 

NECESSARY MAINTENANCE, UNAUTHORIZED REPAIRS OR ANY ALTERATIONS TO THIS PRODUCT), 

LABOR CHARGES FOR REINSTALLING A REPAIRED OR REPLACED UNIT, REPLACEMENT OF 

CONSUMABLE ITEMS (E.G., BATTERIES IN REMOTE CONTROL TRANSMITTERS AND LIGHT 

BULBS), OR UNITS INSTALLED FOR NON-RESIDENTIAL USE. THIS LIMITED WARRANTY DOES 

NOT COVER ANY PROBLEMS WITH, OR RELATING TO, THE GARAGE DOOR OR GARAGE DOOR 

HARDWARE, INCLUDING BUT NOT LIMITED TO THE DOOR SPRINGS, DOOR ROLLERS, DOOR 

ALIGNMENT OR HINGES. THIS LIMITED WARRANTY ALSO DOES NOT COVER ANY PROBLEMS 

CAUSED BY INTERFERENCE. UNDER NO CIRCUMSTANCES SHALL SELLER BE LIABLE FOR 

CONSEQUENTIAL, INCIDENTAL OR SPECIAL DAMAGES ARISING IN CONNECTION WITH USE, OR 

INABILITY TO USE, THIS PRODUCT. IN NO EVENT SHALL SELLER’S LIABILITY FOR BREACH OF 

WARRANTY, BREACH OF CONTRACT, NEGLIGENCE OR STRICT LIABILITY EXCEED THE COST OF 

THE PRODUCT COVERED HEREBY. NO PERSON IS AUTHORIZED TO ASSUME FOR US ANY OTHER 

LIABILITY IN CONNECTION WITH THE SALE OF THIS PRODUCT.

Some states and provinces do not allow the exclusion or limitation of consequential, incidental or 
special damages, so the above limitation or exclusion may not apply to you. This limited warranty 
gives you specifi c legal rights, and you may also have other rights, which vary from state to state and 
province to province.

Contact Information
For installation and service information call:

1-800-528-9131

Before calling, please have the model number of the garage door opener.
If you are calling about a Troubleshooting issue, it is recommended that you have access to your 

garage door opener while calling.
If you are ordering a repair part please have the following information:

part number, part name, and model number.

STOP!
This garage door opener WILL NOT work until the 

safety reversing sensors are properly installed and aligned.



43

Repair Parts

Rail Assembly Parts

Installation Parts

Description Part Number

1 Chain and Cable 041A5807

2 Pulley K144C0056

3 Master Link 004A1008

4 Rail 041A5665

5 Trolley Assembly 

Includes: Threaded 

Shaft (1), Clevis pin (1), 

Ring (1)

041C5141-1

6 “U” Bracket 041D0598-1

Not Shown

Wear Pads 041A7276

Hardware Bag 041A7920-1

Description Part Num-

ber

1 Curved Door Arm 041B0035B

2 Door Bracket with Clevis Pin and 

Fastener 

041A5047-1

3 Emergency Release Rope and 

Handle 

041A2828

4 Header Bracket with Clevis Pin 

and Fastener 

041A5047-2

5 Remote Control 

Visor Clip 

K029B0137

6 Safety Sensor Bracket 041A5266-3

7 Safety Sensor Kit Receiving 

and sending sensors with 

2-conductor wire 

041A5034

8 Straight Door Arm 4178B0034B

9 White and Red/White Wire 041B4494-1

10 3V CR2032 Lithium Battery K010A0020

11 Hanging Brackets 012B0776

Not Shown

Owner’s Manual 114A5223

1

3

2

4

6

5

Accessories

1

3

4

2

5

6

7

8

9

10

11

Description Part Number

1 Push Button Door Control 041A7367-3

2 3-Button Remote Control 953ESTD

1

2



Repair Parts

Garage Door Opener Parts

Description Part Number

1 Sprocket & Sprocket Cover with 

screws

041B5348-2

2 Front End Panel 041A7618

3 Light Lens 041D0145-1

4 Light Socket 041C0279

5 Cover 041D0646-2

6 Motor with Travel Module 041D8006-1

7 Travel Module 041D8071-4

8 End Panel for Receiver Logic Board 041D0233-3

9 Logic Board 050DCTWF

10 12V Battery 041A6357-1

Not Shown

Wire Harness 041D9069

Transformer 041D0277-1

Line Cord 041B4245

Terminal Block 041A3150

The images are for reference only and your product may look different.

1

2
3

8

7

6

4

5

9

10



 

PARA VER LOS VIDEOS 
CONÉCTESE A: 
tinyurl.com/lgh5x3h

Contenido
Preparación ......................................2-5
Ensamblado  ..................................6-10
Instalación ................................... 11-28
 Instale el control de la puerta ... 21-22
 Instale la Protector System®...... 23-26
   Conecte la alimentación 

eléctrica .................................. 27-28
Ajustes ......................................... 29-31
Batería de repuesto ...........................32
Control inteligente myQ® Conéctese ...33
Operación .................................... 34-37
  Funciones .....................................35
  Cómo usar su 

abre-puertas de garaje ..................36
 Control remoto .............................36
 Homelink® ...................................36
 Para borrar la memoria .................37
  Para abrir la

puerta manualmente ....................37
Mantenimiento .................................38
Resolución de problemas .............. 39-40
Accesorios .........................................41
Garantía ............................................42
Piezas de repuesto ........................ 43-44

Manual del propietario
C273
Abre-puertas de garaje 
de cadena

SÓLO PARA USO RESIDENCIAL

INCLUYE UN CONTROL REMOTO 
PROGRAMADO

www.chamberlain.com
www.mychamberlain.com

Garage Opener
•  ¡Lea atentamente el contenido de este manual y las instrucciones de 

seguridad en él incluidas!
• Al terminar la instalación, deje el manual a mano cerca de la puerta del garaje.
• La puerta NO SE CERRARÁ si el Protector System® no está conectado y 

debidamente alineado.
•  Como medida de seguridad, es conveniente efectuar inspecciones periódicas 

del mecanismo de apertura.

• El número de modelo se encuentra en el panel frontal del abre puertas.
• Esté abre-puerta del garaje es compatibles con accesorios de myQ® y 

Security+ 2.0®
• NO usarlo para puertas de una sola pieza si utiliza dispositivos de cierre 

automático. Los dispositivos y funciones automáticas deben usarse 
ÚNICAMENTE con puertas seccionales.



Resorte 
de torsión

Resorte de 
extensiónO



La señal de Wi-Fi es débil.

Es probable que el abre-puertas de garaje se conecte a su red 
de Wi-Fi. Si no es así, pruebe alguna de las opciones de abajo. 

Sin señal de Wi-Fi. Pruebe una de las siguientes opciones:

• Coloque el router más cerca del abre-puertas de garaje para
   minimizar la interferencia de las paredes y otros objetos
• Compre un amplificador de alcance de Wi-Fi
• Compre un Chamberlain myQ Internet Gateway (828LG) consulte
   la página 41

Revise la intensidad de la señal. Si observa:

La señal de Wi-Fi es fuerte. ¡Todo listo!

Instale su nuevo abre-puertas de garaje. 

3/16 

7/16

1/2 

5/32 

5/16

5/8

9/16

1/4

7/16



N

A

B

C

H

K

J

O

I

D

E

F

G

L

M

P

Q



ENSAMBLAJE INSTALACIÓN CONTROL DE LA 

PUERTA

Grapas aisladas 
(no aparece)

Perno 1/4 de pulg.
-20x1-3/4 pulg.

Tuerca de 
seguridad de 
1/4 pulg.-20

Perno

Tuerca 3/8 pulg.
Arandela de 
presión 3/8 pulg.

Eslabón maestro (2) 

Eje roscado Pasador de chaveta 
5/16 pulg. x 1-1/2 pulg.

Aro de 
retención (3)

Pernos hexagonales de 5/16 
de pulg. -18 x 7/8 de pulg. (4)

Arandela de presión 
5/16 pulg.-18 (4)

Tuerca 5/16 
pulg.-18 (4)

Tornillos autorroscantes 
1/4 pulg.-14x5/8 pulg. (2)

Pasador de chaveta 
5/16 pulg. x 1 pulg.

Pasador de chaveta 
5/16 pulg. x 1-1/4 pulg.

Perno de carro 1/4 de 
pulg. -20x1/2 pulg. (2)

Tuerca de mariposa 
1/4 pulg.-20 (2)

Tornillo para madera 5/16 
pulg.-9x1-5/8 pulg. (4)

Tornillo 6ABx
1 pulg. (2)

Tornillo 6ABx
1-1/2 pulg. (2)

Anclajes para 
tablaroca (2)

Tornillo 6-32x
1 pulg. (2)



Almohadillas 
de desgasteSección de la parte 

delantera del riel 

(A LA PUERTA)

Ménsula en "U" 

(A LA UNIDAD 

DEL MOTOR)

Carro

Lengüeta del riel 
en la parte 
superior

Deslice hasta los 
topes en la parte 
superior y los 
laterales de la 
ménsula en "U"

Desarmador



Perno 1/4 de 
pulg.-20x
1-3/4 pulg.

Tuerca de 
seguridad 
de 1/4 
pulg.-20

HERRAJES

Ménsula en "U"

Orificio del perno 

de protección 

de la cubierta

Perno

Tuerca de 

seguridad

Pernos (montados en 

el abre-puertas de garaje)



Riel

Polea del tensor

Grasa dentro 
de la polea

Perno

Cadena/cable

Arandela de presión

Tuerca

Perno
Tuerca 3/8 pulg. Arandela de 

presión 3/8 pulg.

HERRAJES

Lengüeta del riel



HERRAJES

Eslabón 
maestro

Eje roscado

Figura 3

Eje roscado

Tuerca externa

Tuerca 

internaArandela 

de presión

Eslabón maestro

Eslabón 

maestro

Figura 2

Portacadena

Figura 1

a.

b.

c.



Cadena emparejada 
con la base del riel en 
su punto medio

Tuerca 
externa

Arandela 
de presión

Eje roscado 
del carro

Tuerca interna

Para ajustar 
la tuerca interna

Para ajustar la tuerca externa

Base del riel Longitud media del riel

Cadena

Tornillo hexagonal nro. 8 x 3/8 de pulg. 
(empaquetado con la cubierta del portacadena)

HERRAJES

Tornillo hexagonal

Cubierta de la rueda dentada





Pared del frente Línea central vertical de 
la puerta de garaje

2x4 Soportes 
estructurales

Nivel 
(opcional)

Cielo raso 
sin acabado

2x4

MONTAJE OPCIONAL EN EL TECHO 
PARA LA MÉNSULA DE CABECERA

Puerta seccionada con riel curvo

Pared del frente

Riel

5 cm (2 pulg.)

Punto más alto 
del desplazamiento

Puerta

Puerta de una pieza con riel horizontal

Pared del frente

Riel

5 cm (2 pulg.)

Punto más alto 

del desplazamiento

Puerta

Puerta de una pieza sin riel: 

herrajes de la jamba

Pared del frente

20 cm (8 pulg.)

Punto más alto 

del 

desplazamiento

Puerta

Herrajes de 
la jamba

Puerta de una pieza sin riel: 

herrajes del pivote

Pared del frente
20 cm (8 pulg.)

Punto más alto 

del 

desplazamiento

Puerta

Pivote



Tornillo para madera 

5/16 pulg.-9x1-5/8 pulg.

HERRAJES

UP

Orificios de 
montaje en pared

INSTALACIÓN EN LA PARED

INSTALACIÓN EN EL CIELO RASO

Orificios de montaje 
opcional

Línea central 
vertical de la 
puerta de garaje

Pared del frente

Ménsula 
del cabezal

Soporte 
estructural 

de 2 x 4

Resorte 
de la 
puerta

Puerta de garaje

Punto más alto 
del recorrido de 

la puerta de garaje

Línea 
horizontal

Tornillo 
para 
madera

UP

Pared del 
frente

Orificios de montaje en 
el cielo raso

Cielo raso con acabado

Línea central 
vertical de la 
puerta de garaje

Ménsula del 
cabezal

15 cm (6 pulg.) 
max.

Resorte de la puerta

Puerta de 
garaje

Tornillo para 
madera



HERRAJES

Pasador de chaveta 

5/16 pulg. x 

1-1/2 pulg.
Aro de retención

Pasador de 
horquilla

Aro de retención

Conectado Desconectado

Puerta de una sola 
pieza sin rieles

2x4 2x4

Todos los demás 
tipos de puertas



Cielo raso con acabado

Tornillo 
para 
madera

1 2 3
No provista

No 
provista

No provista

4 5 6

Tornillo para 
madera

Cielo raso con acabado

EJEMPLOS

Cielo raso sin acabado

HERRAJES

Perno hexagonal 
de 5/16 de pulg. 
-18 x 7/8 de pulg.

Tuerca 5/16 
pulg.-18

Rondana de presión 
de 5/16 de pulg. -18

Tornillo para madera 
5/16 pulg.-9x
1-5/8 pulg.

Perno 
hexagonal

Tuerca

Arandela de 
presión



or



FIGURA 1

FIGURA 3 FIGURA 4

FIGURA 2
Refuerzo 
vertical

Línea central 
vertical de la 
puerta de garaje

HACIA ARRIBA

Ménsula de 
la puerta

Refuerzo vertical

Refuerzo vertical

Refuerzo horizontal

Línea central 
vertical de la 
puerta de garaje

Herrajes 
(no incluidos)

Ménsula de 
la puerta

HACIA ARRIBA

Línea central 
vertical de la 
puerta de garaje

HACIA ARRIBA

Línea central vertical 
de la puerta de garaje

Herrajes 
(no incluidos)

HACIA 
ARRIBA

Borde interior de la puerta 
o tablero de refuerzo

Tornillo autorroscante

Tornillo 
autorroscante

HERRAJES

Tornillos autorroscantes 
1/4 pulg.-14x5/8 pulg.



Para una puerta sin marcos 
expuestos, o para la instalación 
opcional, use tornillos para madera 
de 5/16 de pulg. x 1-1/2 de pulg. 
(no incluidos) para sujetar la 
ménsula de la puerta.

Línea central 
vertical de la 
puerta de garaje 

Colocación 
opcional de la 
ménsula de la 
puerta

Ménsula de 
la puerta

Ménsula del cabezal

Pared del frente
Soporte de 2 x 4 (Cielo raso con acabado)

Ménsula de 
la puerta

Parte superior de la 
puerta (interior del 
garaje)

Borde superior 
de la puerta

Colocación 
opcional

Colocación 
opcional

Borde superior 
de la puerta

Parte superior de la 
puerta (interior del 
garaje)

Ménsula de 
la puerta

Herrajes 
(no incluidos)

Herrajes 
(no incluidos)

Puerta metálica Puerta de madera
Tornillo autorroscante



HERRAJES

Pernos hexagonales 
de 5/16 de pulg.-18
x7/8 de pulg.

Tuerca 5/16 pulg.-18

Arandela de 
presión 5/16 
pulg.-18

Pasador de chaveta 
5/16 pulg. x 1 pulg.

Pasador de chaveta 5/16 pulg. 
x 1-1/4 pulg.

Aro de 
retención

Arandela de presión

Tuerca

Perno hexagonal

Pasador de chaveta 
5/16 pulg. x 1-1/4 pulg.

Aro de retención

Pasador de chaveta 
5/16 pulg. x 1 pulg.

Brazo recto de 
la puerta (ranura 

hacia afuera)

Brazo de la 
puerta curvo



HERRAJES

Perno hexagonal de 
5/16 de pulg. -18 x 
7/8 de pulg.

Tuerca 5/16 pulg.-18

Arandela de 
presión 5/16 
pulg.-18

Pasador de chaveta 
5/16 pulg. x 1 pulg.

Pasador de chaveta 5/16 
pulg. x 1-1/4 pulg.

Aro de 
retención

Puerta de una pieza sin riel

Puerta de una pieza con riel

Aro de retención

Aro de retención

Aro de retención

Tuerca

Tuerca

Aro de retención

Arandela de presión

Arandela de presión

Pasador de chaveta 
5/16 pulg. x 1-1/4 pulg.

Pasador de chaveta 
5/16 pulg. x 
1-1/4 pulg.

Pernos 
hexagonales

Pernos 
hexagonales

Pasador de chaveta 
5/16 pulg. x 1 pulg.

Pasador de chaveta 
5/16 pulg. x 1 pulg.

Brazo recto de la puerta 
(ranura hacia afuera)

Brazo de la puerta curvo



Tornillo 6ABx1-1/2 de pulg. (2)

HERRAJES

Anclajes para tablaroca (2)

6 mm (1/4 pulg.)

1 2 3 



11 mm (7/16 de pulg.)
2

3 

1 

Grapa
R

O
JO

B
L
A

N
C

O

B
L
A

N
C

O
G

R
IS



Sensor de reversa de 
seguridad 15 cm (6 pulg.) 
sobre el piso, como máximo

Área de protección 
del haz de luz invisible

Vista de la puerta desde el interior del garaje.

Perno de carro 1/4 pulg.
-20x1/2 pulg.

Tuerca de mariposa 
1/4 de pulg.-20

HERRAJES

No más de 
15 cm 
(6 pulg.)

Perno de carro

Tuerca de mariposa

1

2 3



Lente
Perno 
de carro

(No provista)

No más de 
15 cm (6 pulg.)

1 2

(No provista)

Tuerca de 
mariposa

3 4

(No provista)

Pared 

del 

interio
r 

del 

garaje

1 2

Perno de carro

Tuerca de 
mariposa

3 4



1 2

3

Grapa

11 mm 
(7/16 de pulg.)

B
L

A
N

C
O

B
L

A
N

C
O

G
R

IS

R
O

JO

HERRAJES

Grapas aisladas (no aparece)



Cables del sensor 
de seguridad 

de reversa

Cables 
previamente 
instalados

Blanco

Blanco/Negro

Amarillo (por ejemplo)

Púrpura (por ejemplo)

No incluidas

Cables previamente 

instalados

Cables del sensor 

de seguridad de reversa

11 mm 
(7/16 
de pulg.)

Amarillo

Púrpura

1

3

4

11 mm 
(7/16 de pulg.)

2

Amarillo 
(por ejemplo)

Púrpura
(por ejemplo)

Para conectar o desconectar un cable, 
empujar la pestaña con la punta de un 
destornillador.

5

R
E
D

W
H

IT
E

W
H

IT
E

G
R

E
Y

D
R

E
D

WR
E

W
H

I
W

H
IT

E

GG
R

E
Y



Lengüeta de tierra

Tornillo verde de 
puesta a tierra

Cable de puesta 
a tierra

Cable blanco

Cable negro



DEL verdeDEL ámbar

Tuerca de 
mariposa

SENSOR EMISOR SENSOR RECEPTOR

(haz de luz invisible)

Si el sensor receptor está expuesto a la luz solar directa, 
inviértalo de posición con el sensor emisor, de modo que 

quede en el lado opuesto de la puerta.

R
O

JO

B
L
A

N
C

O

B
L
A

N
C

O

G
R

IS

321

1 2



ARRIBA (Abierto) ABAJO (Cerrado)

Correcto

Incorrecto

Botón ARRIBA

Botón de ajuste

Botón ABAJO

BOTONES DE PROGRAMACIÓN



Botón ARRIBA

Botón de ajuste

Botón ABAJO

BOTONES DE PROGRAMACIÓN

1 2 3

4 5

6 7



1 2

1 2



DEL de estado 

de la batería

1 2 3



Un DEL en el abre-puertas 
de garaje indicará el estado 
de la conexión de Wi-Fi. 
Vea la siguiente tabla.

Botón pulsador

Botón de LUZ
(también se 
utiliza para 
conectar myQ; 
ver aplicación)

Control de botón pulsador

LED

Botón de 
aprendizaje







Botón pulsador Botón de 
LUZ

1

2

O

PIN

? ? ? ?

4GHI 5JKL

7PRS 8TUV 9WXY

0 QZ* #

ENTER

0 QZ
*

#

ENTER

6  MNO

“clic
”

“clic
”

DEL DE APRENDIZAJE

Botón APRENDIZAJE





1
2

3







41

Accesorios

953EV

940EV

956EVControl remoto:

Compatible con TODOS los 

modelos Chamberlain desde 1993 

hasta la fecha. Compatible con 

myQ. Incluye broche para visera.

Teclado inalámbrico:

Utilizado del lado de afuera para 

facilitar el ingreso al garaje con 

un código de cuatro dígitos. 

Compatible con TODOS los 

modelos Chamberlain desde 1993 

hasta la fecha. Compatible con 

myQ.

Control remoto tipo llavero:

Compatible con TODOS los 

modelos Chamberlain desde 1993 

hasta la fecha. Compatible con 

myQ. Con llavero.

CLLP1 Asistente laser para estacionar:

Estacione siempre en el lugar 

correcto. Su abre-puertas de 

garaje activa un haz de laser, el 

cual se proyecta en el tablero de 

su vehículo para guiarlo en un 

estacionamiento perfecto.

PILCEV Control remoto de iluminación 

myQ:

Controla este interruptor de luz con 

la aplicación para teléfono inteligente 

myQ.

Ménsulas de extensión:

(Opcionales). Para la instalación 

del sensor de reversa de 

seguridad en la pared o en el 

piso.

041A5281-1

7710CB Extensión del riel de 3 m  

(10 pies):

Para permitir que una puerta 

de 3 m (10 pies) se abra 

completamente.

Extensión de riel de 2.4 m 

(8 pies):

Para permitir que una puerta 

de 2.4 m (8 pies) se abra 

completamente.

7708CB

041A6357-1 Batería de reserva del sistema 

de energía:

Proporciona energía eléctrica de

reserva al abre-puertas del garaje.

WSLCEV Interruptor de luz interna/externa 

myQ

Controla este interruptor de luz 

con la aplicación para teléfono 

inteligente myQ.

En su cuenta myQ podrá programar hasta 10 accesorios myQ.

Accesorios de myQ



42

Garantía GARANTÍA LIMITADA DE CHAMBERLAIN

Chamberlain Group, Inc.® (“Vendedor”) garantiza al primer comprador minorista de este producto, para la 
residencia en la que se instaló originalmente este producto, que está libre de defectos de materiales y mano 
de obra durante un período específi co según se defi ne abajo (el “Período de garantía”). El período de garantía 
empieza el día de compra.

PERÍODO DE GARANTÍA

Piezas Motor Accesorios

1 año 6 años 1 año

La operación correcta de este producto depende de que usted cumpla con las instrucciones referentes a la 
instalación, a la operación, al mantenimiento y a la prueba. No seguir estrictamente esas instrucciones anulará 
por completo esta garantía limitada.Si, durante el período de garantía limitado, este producto parece contener 
un defecto cubierto por esta garantía limitada, llame al teléfono gratuito 1-800-528-9131 antes de desmontar 
este producto. Al llamar a este número, se le proporcionará instrucciones para desmontar y enviar el producto 
al centro de reparación. A continuación, envíe el producto o componente, por correo asegurado y con el porte 
pagado, según las indicaciones al centro de servicio para que se realicen las reparaciones cubiertas por la 
garantía. Por favor, incluya una descripción breve del problema y un recibo fechado como prueba de compra, 
en cualquier producto devuelto por concepto de reparación cubierta por la garantía. Los productos devueltos al 
Vendedor para la reparación cubierta por la garantía, los cuales una vez recibidos por el Vendedor, se confi rme 
que sean defectuosos y que estén cubiertos por esta garantía limitada, serán reparados o reemplazados (a 
opción única del Vendedor) sin costo para usted y serán devueltos con el porte pagado. Las piezas defectuosas 
serán reparadas o reemplazadas a opción única del Vendedor por piezas nuevas o reconstruidas de fábrica. 
[Usted es responsable de los costos incurridos en el retiro y/o en la reinstalación del producto o cualquier 
componente].
TODAS LAS GARANTÍAS IMPLÍCITAS PARA EL PRODUCTO, INCLUYENDO, ENTRE OTRAS, CUALQUIER 

GARANTÍA IMPLÍCITA DE COMERCIALIZACIÓN O DE IDONEIDAD PARA UN CIERTO FIN, ESTÁN LIMITADAS 

EN DURACIÓN AL PERÍODO DE LA GARANTÍA LIMITADA APLICABLE ESTABLECIDA ANTERIORMENTE 

PARA LOS COMPONENTES RELACIONADOS, Y NO EXISTE NINGUNA GARANTÍA IMPLÍCITA NI SE 

APLICARÁ DESPUÉS DE DICHO PERÍODO. Algunos  estados y provincias no permiten limitaciones sobre la 

duración de las garantías implícitas, de tal modo que la limitación mencionada anteriormente podría no 

corresponder a su caso. ESTA GARANTÍA LIMITADA NO CUBRE DAÑOS NO RELACIONADOS CON DEFECTO 

DEL PRODUCTO, DAÑOS CAUSADOS POR LA INSTALACIÓN, LA OPERACIÓN O EL CUIDADO INCORRECTOS 

(INCLUIDOS, SIN LIMITARSE A ELLO, ABUSO, USO INDEBIDO, FALTA DE MANTENIMIENTO RAZONABLE 

Y NECESARIO O CUALQUIER ALTERACIÓN A ESTE PRODUCTO), NI LOS CARGOS DE MANO DE OBRA 

POR LA REINSTALACIÓN DE UNA UNIDAD REPARADA O REEMPLAZADA, REEMPLAZO DE ARTÍCULOS 

DE CONSUMO (POR EJEMPLO, BATERÍAS EN TRANSMISORES DE CONTROL REMOTO Y BOMBILLAS), O 

UNIDADES INSTALADAS PARA USO NO RESIDENCIAL . ESTA GARANTÍA LIMITADA NO CUBRE PROBLEMAS 

DE LA PUERTA DEL GARAJE O DE HERRAJES DE LA PUERTA DEL GARAJE O PROBLEMAS RELACIONADOS, 

QUE INCLUYEN, ENTRE OTROS, RESORTES, RODILLOS, ALINEAMIENTOS O BISAGRAS DE PUERTA. ESTA 

GARANTÍA LIMITADA TAMPOCO CUBRE PROBLEMAS CAUSADOS POR INTERFERENCIA. EL VENDEDOR 

NO SERÁ RESPONSABLE, EN NINGUNA CIRCUNSTANCIA, DE DAÑOS EMERGENTES, INCIDENTALES O 

ESPECIALES QUE SURJAN EN RELACIÓN CON EL USO O LA INCAPACIDAD DE USAR ESTE PRODUCTO. LA 

RESPONSABILIDAD DEL VENDEDOR POR VIOLACIÓN DE LA GARANTÍA, POR VIOLACIÓN DEL CONTRATO, 

NEGLIGENCIA O RESPONSABILIDAD ESTRICTA, EN NINGÚN CASO DEBERÁ EXCEDER EL COSTO DEL 

PRODUCTO CUBIERTO POR LA PRESENTE. NINGUNA PERSONA ESTA AUTORIZADA A ASUMIR EN NUESTRO 

NOMBRE NINGUNA OTRA RESPONSABILIDAD CON LA VENTA DE ESTE PRODUCTO.

Algunos estados no permiten la exclusión o limitación de daños emergentes, incidentales o especiales, 
de manera que la anterior limitación o exclusión podría no aplicarse a su caso. Esta garantía limitada le 
proporciona derechos legales específi cos y usted también puede tener otros derechos que varían según el 
estado y la provincia.

Información de contacto
Para obtener información sobre instalación y servicio técnico llame al:

1-800-528-9131

Antes de llamar, tenga a mano el numero de modelo del abre-puertas de garaje. Si llama por un problema 
técnico, es recomendable que tenga acceso al abre-puertas de garaje mientras llama. Si desea solicitar 

una pieza de repuesto, tenga a mano la siguiente información: 
numero de pieza, nombre de la pieza y numero de modelo.

¡PARE!
Este abre-puertas de garaje NO funcionará hasta que los sensores de

reversa de seguridad estén debidamente instalados y alineados.



43

Piezas de repuesto

Piezas de la unidad del motor

Descripción Numero de 

Parte

1 Cadena y cable 041A5807

2 Polea K144C0056

3 Enlace principal 004A1008

4 Riel 041A5665

5 Carro completo incluye: 

pasador chaveta (1), 

anillo (1)

041C5141-1

6 Ménsula en ‘U’ 041D0598-1

No Mostrado

Almohadillas de 

desgaste

183A163

Bolsa de herrajes 041A7920-1

1

3

2

4

6

5

Piezas de instalación

Descripción Numero de 

Parte

1 Brazo de la puerta curvo 041B0035B

2 Ménsula de la puerta con 

pasador chaveta y seguro de 

anillo

041A5047-1

3 Manija y cuerda de apertura de 

emergencia

041A2828

4 Ménsula de cabezal con pasador 

de chaveta y seguro de anillo

041A5047-2

5 Broche de visera para control 

remoto

K029B0137

6 Ménsula del sensor de seguridad 041A5266-3

7 Juego de sensores de seguridad 

sensor de receptor y emisor con 

cable

041A5034

8 Brazo de puerta recto 4178B0034B

9 Cable blanco y rojo/blanco 041B4494-1

10 Batería de Litio de 3V CR2032 K010A0020

11 Ménsulas de soporte 012B0776

No Mostrado

Manual del propietario 114A5223

1

3

4

2

5

6

7

8

9

10

11

Accessories

Description Part Number

1 Pulsador de comando de 

puerta

041A7367-3

2 Control remoto de 3 botones 953ESTD

1

2



Piezas de repuesto

Abre-puertas de garaje

 © 2019, The Chamberlain Group, Inc.
 All Rights Reserved
 Todos los derechos reservados
 Wi-Fi® is a registered trademark of Wi-Fi Alliance
114A5223B Wi-Fi® es una marca registrada de Wi-Fi Alliance.

Las imágenes se usan solamente como referencia. El producto comprado podría tener un aspecto diferente.

The Chamberlain Group, Inc. 
300 Windsor Drive

Oak Brook, IL 60523

Descripción Numero de 

Parte

1 Portacadena, tornillos y cubierta de 

la rueda dentada

041B5348-2

2 Panel final/extremo frontal 041A7618

3 Lente 041D0145-1

4 Receptáculo de foco 041C0279

5 Cubierta 041D0646-2

6 Motor y módulo de recorrido 041D8006-1

7 Módulo de recorrido 041D8071-4

8 Panel de extreme para tabla de 
lógico de receptor

041D0233-3

9 Tabla de lógico de receptor 050DCTWF

10 Batería de 12 V 041A6357-1

No Mostrado 

Arnés conector 041D9069

Transformador 041D0277-1

Cordón eléctrico 041B4245

Bloque terminal 041A3150

1

2
3

8

7

6

4

5

9

10


